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Model Sum of Squares  |df Mean Square |F Sig.
1 Regression  ]1406178.918 1 1406178.918 [8.580 .008?
Residual 3769489.082 23 163890.830
Total |5175668.000 24

() < bal sl galal) bl Qalas Jsaall 138 Jle (3lay -)

()dsaall 138 a1 (e @il s gy il A alag) S - ¥
()alaa) Al ye Ll 5 A, 0A = & il dad of Jaall 1 & jekny LS - ¥
()ailiaa) na e Zaalll 4l cilia 5 3 Aal (455 Ao g ) o5 slaie) 3 sail o) -

Uadd) Jiud Jad a9 (X 51 V) pag (ol oS ol 7 3 (B 5 92 gl cilaglaall (81 —(Y) gl

Unstandardized Standardized
Coefficients Coefficients
hadel B Std. Errar Beta t Sin.
1 (Constant) 27 689 4 563 B.068 000
Engine Displacement
(Efmmesf % 0B 4 | om0 ow
Wehicle Weight bs.) g.454E-03 003 187 3.032 003
a. Dependent Yariable: Horsepower
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